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S ’ 1-9: Solve each quadratic using the quadratic fo{g&uia. Wirite irrational answers in simplified radicaléorm.
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4. 25x*-20x-6=0 C'iKS' X2 =4x-15 x‘lr‘_"txﬂs"o 6. 7x2+6;+2=0
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10-13: Find the value of the discriminant and describe the number and type of roots, DO NOT SOLVE!
10. 9X-6x+1=0 }11. X*+12x = -4 [12. 4 -4x+11=0

x* Hix+U=0
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14. GRAVITATION - YOU MUST SOLVE THIS ALGEBRAICALLY!

The height h(t) in feet of an object t seconds after it is propelled straight up from the ground with an initial
velocity of 60 feet per second is modeled by the equation h{t) = -16t2 + 60t. At what times will the object be

at a height of 56 feet? I‘dtl_bOb +S =0
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